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1’11  3 14 (L.) 7 1



1. flk=f+  nXl¶Jrf 4-113 dJ 4-115 Hh 232-233 auQilal(sPlknl~i;lsJw'29241)

2. ~llWJC(  4-51, 4-52 bl8Z  4-58 Hk 196, 197 LlR:  201 hVh5l'uv7J&A

3. $"$ flXllld 4-118 HI!1 235 b.bild?lJ&

4. ymud 4-93 nk 221 Iuiiai&J&.~

'iQ"aaaJnla&Ju~  3

I 1. f"$ lll~lld 4-120 Miil 236-237 hh~l (1MknllkJ~  29241)

2. $llTd  4-100 i?J  4-103 Vii1 225-227 b4ilfll?iJ$iU

3. ~TlXllJd  4-103 LLK 4-104 YIlh 227 b4oilWihJ6U

1. ~KXWi&lfJflXllJCi  4-121 tJ 4-128 <Jndl?

2. ~KA&hJn~~lJd  4-129 i?J  4-138 siJnil?

1. '$S$ I-Id  5-66 dJ 5-68 PI& 284-285 hh'tl (dkfIl7%Jw'  29241)

2. f"50lJd  5-6 Hih 253, fl%Ji  5-8 iiJ  5-10 #pIi 254-255, lid 5-17

bJ 5-18 'dl 259 LLR'fl%J~  5-24 dil 262-263

i%naaun1a&Jui4 2

1. G$+ tld 5-69 dJ 5-72 VI'& 286-287 hh51 (T&?fll~d~w'  29241)

2. $tlBXJd  5-35 iiJ  5-42 dil 268-273, fWXJd  5-43 i?J  5-51 %I& 273-277

LLRLllXl¶J+l  5-52 8J 5-56 IdI 278-279

1. ~WJdOhJll~OlJ~  5-75 fiJ  5-80 ~Jlldl?

2. ~Kb&Wi&JflT0Yd  5-81 tJ 5-85 ~Jfltil1
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1. QtT$ ?lWd  7-113 89 7-114 Pqlh 406 b-4dl~l  (3i-iilll$hJw'  29241)

2. ~fld""d  7-28 Pq'h 362 bbRtllXl¶J~ 7-35 dil 366 hhWh$iU

3. ;"SQ¶Ji  7-40 Mk 368-369 6hJfhflBXJi  4-96 Wh 223 hd?Wih&

4. ~?lS"¶Jd  7-50 Ml!1 373 6bR3l~QU~  4-82 Mlh 214 h6;ildh1J~U

5. ~ll3QEld  7-55 89 7-64 'I& 376-380

ihaaPl"la6~aPa~  3

1. t$tl'7d  fl-iQ¶Jd  7-114 dS 7-116 Miil406-408bith~l(~Ps'brnl~&.w'29241)

2. $yldi  7-69 V& 383 LbWnQEl~  7-75 dil 386 hhTilhil6~

3. $7l7QlJi 7-79 i% 7-83 =dil  388-390 6ihJf%fWJ~  7-55 5.3  7-64 I&376-380

iion%%al"l3a~Fluwd  4

1. y=qd n-md  7-116 i% 7-117 M&408-409 aw6iilal(aP9"69-nla~uw'29?41)

2. p-mud 7-97 I.& 397

3. F$WLif(  7-106 fi.7  7-111 Ml& 402-405 hJ?%J?l%3¶J~  7-79 $4 7-83 dl

388-390  bbd,"flWl¶d 7-55 id 7-64 HI? 376-380
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1.5 3. (PZVZ  - P,vI)/(l-c,/.c,)

1.6 5. bW&l7~

1.7 2. Pg,,',",~¶J6

1.8 3. vr,,,s  > 7 > v,,,

1.9 3. ni!
Ni!  (ni  - Ni)!
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ffl



= (120+273)-(27+273)

(120+273)

= 20 x (0.24)
100

rl = QH-Qc  = 0.05
QH

TH= 1-=- = 3.7
TH-Tc 0.24
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373”
= mc,lnlj

300 ”

hJnlaLLYlufil  Pt!&  ds,  = dS,/m  = (1.0)(111373-ln300)  = 0.22 MlMIi.
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